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PAPER-II
EDUCATION
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(To be filled by the Candidate)
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Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 12

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.
2. This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
4. Eachitem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

9. You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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EDUCATION

Paper - 11

two (2) marks. Attempt all of them.

Which branch of Philosophy does
examine the issue pertaining to the
nature of reality ?

(A) Axiology

(B) Aesthetics

(C) Metaphysics

(D) Epistemology

Which book was written by Plato on
Education ?

(A) ‘The Republic’

(B) ‘Educational Philosophy’

(C) ‘Education of Plato’

(D) ‘Emile’

Existentialism believes more in
than in

(A) Essence, Existence

(B) Existence, Essence

(C) Action, Intuition

(D) Intuition, Action

Democracy as an ideology is based

on the premise that

(A) Integrity of the individual is
worth protecting at all costs.

(B) The group is more important
than the individual.

(C) The state is more important
than the individual.

(D) The individual must be willing
to sacrifice his life for the
protection of State.

Four noble truths frame the basic
tenets of the Philosophy of

(A) Sankhya (B) Vedanta
(C) Buddhism (D) Jainism

Who has said that mode of
production is the sole determinant of
the culture of people ?

(A) Karl Marx

(B) Max Weber

(C) R.M. Maclver

(D) Lundberg
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Note : This paper contains fifty (50) objective type questions, each question carrying

Which one of the
educational systems
scientific progress ?

(A) Idealistic education
(B) Realistic education

(C) Naturalistic education
(D) All of the above

following
supports

Who has suggested the concept of
integral  education for Indian
people ?

(A) Gandhiji

(B) Tagore

(C) Vivekananda

(D) Aurobindo

The National Policy on Education
1986 envisages Education as

(A) Investment

(B) Return

(C) National Programme

(D) Social Programme

According to Quran, education is
compulsory for

(A) All men

(B) All women

(C) All men and women

(D) None of the above

Under which Article of the
Constitution, the Indian States are
given right to promote the
educational interests of  the
Scheduled Castes and Scheduled
Tribes and Other Backward Classes
of India ?

(A) Article 46
(C) Article 14

(B) Article 17
(D) Article 16

“The most important outward factor
is the formation of nationalities in
the State.” To whom do you attribute
this statement ?

(A) Ramsay Muir

(B) R.M. Maclver

(C) Hansa Mehta

(D) Hans Kohn
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13. Who is regarded as the Father of 18. Arrange the following in sequential
Sociology ? order to  describe  complete
(A) Auguste Comte socialization. Use the Roman
(B) Robert Payne Numbers given as codes.
(C) Ivor Morrish L. Man to society, Man to
(D) Maclver country
II. Man to Relatives, Man to
14. Which of the following are agencies Friends
of social change ? III. Man to Mankind, Man to
(a) Family Universe
(b)  School IV. Man to self, Man to family
EZ)) Eat?ona} é‘finy _ (A) 1IL I, I and IV
ational Calamity
B Wi wwo |0 M
(©) (©and(d) (D) (d)and(a) P
(D) 1V, II, Iand III
15. What does the term “Society” imply
for governance ? 19. What is the division of people based
(A) Checks and Balances on their social status known as ?
(B) Equalising Educational (A) Social Group
Opportunities (B) Social Stratification
(C) Mutual Help (C) Social Cohesion
(D) Law-abiding citizens (D) Social MOblllty
16. What factors are responsible for . .
today’s caste distinctionpin India ? 20.  What is meant by “S_Omety” _? )
(a) Poverty (A) Network of Social Relationships
(b) English Education (B)  Group of People
(c) Family Occupation (C) People with Common Features
(d) Religion (D) Nation
(A) (a), (b) and (c)
(B) (a), (c) and (d) 21. What does social change mean ?
(€)  (b), (c)and (d) (A) Social Mobility
(D) (d). (@) and (b) (B) Change in Education System
17. “School is a community in © Cha‘nge in Government
miniature, a micro-society.” What do (D) Social Progress
the terms  “community”  and
“society” mean in this quote ? 22. What change in Education is
(a) Community means uniformity necessitated by Globalization ?
(b) Community means freedom (A) Equality of Educational
(¢) Society means control Opportunities
(d) Society means oneness (B) Modernization of Education
(A) (@and(b) (B) (a)and(d) (C) Vertical Mobility
(© ()and(c) (D) (b)and(d) (D) Cultural Diffusion
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(c) TEETT IV. o9 @ o foru, w77 aRem
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(A) @3IRD) B (b)AR(C) (A) IIL I II &R IV
©) (IR (D) (@ R (a) (B) IV, I, II&RII
e (C) ILIIL I 3R IV
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(D) faftmmerss Fie (B) WA TR0
. (C) STHISTes Safe
16. Wﬁa;:rwﬁr 43 & o1 B T FRF D) o TR
(a) T 20. HET FTHTATE ?
(b) S frer (A) TTHIRE Garet o et
(c) TSR YFeh AT YT STl (B) ANTH 1 WHE
d &9 (C) QTHT ATeh--TaRT STt T
(A) (), (b) 3R (c) D) T
(B) (a), (c) R (d)
(C) (b), (c) 3R (d) 21. IS URE 1 9 31 § ?
(D) (d), (a) 3R (b) (A) QI Tt
(B) Tereqr-mromett H ufkara=
17, ferenmea T 1 R €, qE G (C) TWHR ¥ uRgaq
F G T E 7 W WA AR (D) T fopre
“GHTST T T A ?
(a) T T 37 ¥ TR 22. JHSERIUT % HROT FO1e | T uRacq
(c) quTS o 37 & Feaon (A) o8t 3 ST il FHE
(d) T T 37 ¥ TR (B) Torerm =t Smgfenisor
A) @3R® (B) (@3 (C) 3t Teeireran
© (b)) D) (b)) (D) WRFHTF TR
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23. “Society and  Education are 27. A child was pricked by the thorn of a
interconnected and intricately red rose and got hurt. Later on he/she
connected, so that one cannot thrive started expressing fear towards a red
in the absence of the other.” Why ? dress and now anything red in
(A) Education modernizes colour. Th.ls 1S an examplp O.f

Agriculture, Industry, Science (A) A stimulus generalization
gricu ’ Y, >cl (B) A response generalization
and Technology and National (C) Both a stimulus and a response
Defence. generalization
(B) Education helps to do away (D) Neither a stimulus generalization
with Social Divisions. nor a response generalization
(C) Education makes people self- 28.  Match the following :
employable. List — I List — II
(D) Education sustains human life, (Stages of (Psychological
preserves  existing  culture, development) crisis)
creates new culture and I. Infancy 1. Initjative Vs
integrates both. Guilt
II. Adolescence 2. Trust Vs.

24. Count.ries, small and big, are 11 Young 3 %I;tg:;tv&
spending colossal amounts on Adulthood Role
Education. Investment in Education Confusion
is the single, largest item of IV. Middle 4. Intimacy and
expenditure, next to defence, in Adulthood solidarity Vs.
many countries.” What is the Isolation
educational and sociological 5. Generativity
justification for this ? Codes : Vs. Stagnation
(A) Education raises the standard I. n m IV

of living of people. (A) 2 3 4 5
(B) Education has become a B) 3 4 2 1
pressing need under <© s 3 2 4
Globalization. (D) 4 5 1 2
(C) Education helps to procure 29. Match the following :
security, prosperity and social List -1 List - II
well-being to all. (Psychological (Constructed
(D) Education produces competent Test) by)
people to handle Defence L IS)tandard. 1. Cattell
Equipments. N}gtgégzzwe
) ) II. 16 Personality 2. Murray &

25. The first psychological laboratory Factor Test Morgan
was established by III. Thematic 3. Ravan
(A) Galton (B) Cattell Apperception
(C) Pestallozzi (D) Wundt Test

IV. Inkblot Test 4. Rosengweig

26. According to Piaget the third stage ) 5. Rorschach
of cognitive development is Codes I. 0 m IV
(A) Concrete operational (A) 2 1 5 3
(B) Sensory motor (B) 3 1 2 5
(C) Pre-operational < 3 4 2 5
(D) Formal operational D) 5 1 4 3
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23.

24.

25.

26.

“HETST SR ToTeT TH-gE W IS qE AN

g 9 ¥ g §U €, THGT TH 3 foT

T AT e GO TET & 17 T 2

(A) FN, 3@, fosm SR e
3R T GREAT — 3 Tt T Foreq
MY FTehTeRYOT AT & |

(B) o ¥ WISt SReTe §X A |
g faerdt & 1

(C) Torem &l i W-USHIR & AT
FAE |

(D) forer wFE Sie 1 WO FReA €,
HISTRT &Il i TRTT Tl &, T8
TEHA T Go\ A & AR
AT Sl TeIgHd L & |

T AR B & AT T, o o1t W 9y =2

FRX W E | T & 15 {3787 & oA 6§

ST ek 391 U AL 51 T FaId

TS AT AT F L & | TR eIk 3R

AT Sitaeg 1€ ?

(A) R8T A T STe-%aR S 33T
g

(B) yHecteRur & IR H frem Sga
TEH AT ST |

(C) Torem & quft <Rl GRe&TT, U= 3R
[T FHeamoT &1 i H Hes
e g |

(D) foreT QRem SUROT hi TR
G | GHY STl GE ATt
g

YeeAl TR JINTReAT sl TAT9AT oht
off

(A) T (B) A
(C) UwmEstA (D) F=A

s & TR dHeTs fas @t
T SFere &

(A) T GhrarTs

(B) Hos! UvT

(C) Ya-disharcHeh

(D) 3= GishaTcHs

27. U I=d & A [ H Hiel g9 T

28.

29.

STEd 3 ! e TEd | 3T TeTR o8
AT TR AT TRt ot SATer T 1 <t Bt
G S TN/ATN | T8 ST &

(A) SEIUH TR

(B) TR ATHTATHOT

(C) SR 3R FRRA IAT

HTHTHOT
(D) 7 o SEIUeh WO 3R T &

TSR QAT HIOT
F=feREe w1 e it
T -1 e - 11
(forrra =t (AR Gehe)
FeETT)
[ Jwemeen 1. U a9 g
II. TFeREer 2. foverg W
Sfavery
I garag&het 3. Yga o°H
REIE]
IV. 7 Ueeedr 4. =i a9
STheATIT
5. YSTeRdl AT
HiS
I IO I IV
A) 2 3 4 5
B) 3 4 2 1
< 5 3 2 4
D 4 5 1 2
F=feRae w1 e it
G | T - 11
GEIERIEED (% g ff)
TRTEToT)

[ ¥eg unfga 1. %o
Hfzdst

II. 16 98Afeer 2. TR AU HH
Therel 3%

I11. efmfes 3. &
TRAWM

IV.SF SR 4. UsHE

5. LM

T :
I 1O I IV

A 2 1 5 3

B 3 1 2 5

C 3 4 2 5

@ 5 1 4 3
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30. Imposition of one’s own feelings on 34. Rearrange the stages of creative

others is the defence mechanism process :
called o L [llumination
(A) Introjection II.  Incubation
(B)  Identification II.  Preparation
(©) Pr.OJectlon IV. Verification
(D) Displacement Codes :
31. Critically judge the following : A I 1m 1 1Iv
Assertion (A) : Preschool period B) HI 1 I 1v
is crucial for language © o v 1 1
development. D) 1 I I1v 1
Reason (R) : Brain is relatively
more plastic during early 35. The four contents included in the
stages of development. Guilford’s model are .
(A) Both (A) and (R) are true and (A) Figural, Symbolic, Semantic,
(R) is the correct explanation. Behavioural
(B) Both (A) and (R) are true and (R) (B) Figural, .Semantic, Behavioural,
is not the correct answer for (A). Symbth . ‘
(C) Only (A)is true, but (R) is false. (C)  Semantic, Symbolic, Behavioural,
(D) Only (R) is true. Figural _ _
] (D) Figural, Behavioural, Symbolic,
32. Match th.e following : . Semantic
List -1 List - 1I
I(Bzglc co:;c gpts{ iPs;F;clllologlst) 36. Rearrange the sequence of cognitive
- Unconditiona . Tolman development :
Stimulus .
. L Decentration
II. Successive 2. Hull o
approximation II.  Objective permanence

III.  Propositional thinking

III. Habit strength 3. Skinner ; —
IV. Latent learning 4. Pavlov Igo-de:.ransductlve thinking
5. Thorndike :
Codes : A I 1mr 1v 1
1 onm o 1 ) IO 1v 1 1
A 2 5 4 1 <© o 1v 1 11
B) 4 3 1 2 @ I mI 1mo 1v
© 4 3 2 1 -
(D) 5 3 4 2 37. A  researcher studying the
development of self-esteem among
33. Regrrange 'the stages of concept primary  school  children  can
?ttalmll:lg?éﬁl level interview only 35 students in each

grade. Which of the following
approaches to sampling is most
appropriate ?

(A) Systematic sampling

II.  Concrete level
III.  Classificatory level
IV. Identity level

(i?)des I: ar v 1 (B) Stratified sampling

B O 1v 1 10 (C) Non-proportionate random
© I 1 I IV sampling

D) I 1V (D) Quota sampling
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30. TWI W AT TEAT ARG HA i

31.

32,

33.

ok AT ©

(A) 3d:gmor (B) UEEH

(C) we&moT (D) fowmm

FEAEd TYR-are= Sl AT

TR iU ;

SMUR-FI (A) : 3-forera a7aty 9
% forepr 1 gfee | g Hewul &

|

RO (R) : fahr@ & R wom o
ARTSh  3TUeThd 3T oTeien
BATE |

(A) (A) 3R (R) IAT ¥ & 3R (R)
T TET TR E |

(B) (A) 3R (R) g & € 3R (R),
(A) F T IR E |

(C) aet (A) §F &, TR (R) fyem |

(D) waal (R) &9 e |

fr=feriae s fHe shifeTT
Tl -1 - 1
(SR W) (WIaweh)
[ SFaMd Uk 1. Sfereq
II. FHEFITHT 2. &

I11. 37ed 9 3. e
IV. e ™ 4. uieaeg
5. gHeEH
e :
I o I 1
A 2 5 4 1
B) 4 3 1 2
< 4 3 2 1
D 5 3 4 2
TUT WU o T =ROT Rl AT
HIfeT
I 3 &)
II. Ta&R
[ =TT TR
IV, 9@ &
Fre

A I I IV T
@) T IV 1 II
C m 1m 1 1V
M I IV I I

34. GEA-UGRAT % TH RON H YA

35.

36.

37.

HITST

| S 31 | e
I e
. 3R

IV. ¥3mq
qﬁg .

A) M 1M 1 1V
@) m 1 I 1V
C© I IV 1 1I
M I 1 IV II

fTeTRIE Hiewr § et 9R fawg €

(A) STFHETHSE, UdlhcHS, I,
HdgRULch

(B) 3TFHcAcHSE, TR, ZTERUIS,
EGiEAEED

(C) oTIRH, UdihlcHS, HTERIF,
ATFHATHS

(D) 3AThHATHS, AIERUL, T ThTcHh,

Eibiren

TS [aeh e W T STIRH o
AT ShITTT

L faesor

II. SR S
[I. e aaa

IV. AT o
WS :

(A II I 1v 1
B I 1v I III
© m v I I
D) 1 m 1o 1v

Tt forRIeT™ o Sedi § STcHgr
AT HL AT AT & U o A
HaeT 35 TRt o1 FTETeEhR Y Fehell
T 1 W WY ¥ Hefated d§ 9
AREMHIOT HI HF A IUH  HIH
S ?

(A) Tafed =ATEROT

(B) TRighd =ATGIITRIOT

(C) ITUITeh ATgfeseh =TT

(D)  HIeT ATGLMHIIT
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38. What is the purpose of reviewing the 44. What does the denominator in the
related literature for conducting an F-ratio measure ?
action research ? (A) Between groups variance
(A) To determine the contribution of (B) Error variance
the stud}_/ to scientiﬁc_ literature. (C) Mean square variance
B) T;0d01M1fy the design of the (D) Sums of squares
study.
© II(I) dlpc)lree?cttlfcye;he effective ideas 45. Use of product moment coefficient
(D) To ascertain whether the study Daits of scores obtained from which
is of quantitative or qualitative £ scales 7
nature. ?f)e oNsca‘esl. d Int !
ominal and Interva
39. What type of wvalidity is least (B) Ordinal and Nominal
precisely quantifiable ? (C) Interval and Interval
(A) Content validity (D) Ordinal and Interval
(B) Concurrent validity ) ]
(C) Construct validity 46. Which of the following tools of
(D) Predictive validity research  gives  most  precise
ts ?
40. Which of the following is the main (A Ouestionnaire
characteristics of the interval scale ? .
; X (B) Observation schedule
(A) No fixed =zero point and .
unequal intervals. (C)  Rating sgale
(B) Fixed zero point and equal (D)  Information schedule
intervals. 47. Which of the following is NOT the
©) ifgéeer?/alzsero point and unequal goal of scientific method of
) . 0
(D) No fixed zero point and equal ?Z(%ulr]lgr;% %(o I;Zgéidffe t1.~uth
intervals.
ftervals (B) Fact finding
41. Standard error is an index of (C) Control of variables
Eg)) ]Silrrors1 ‘due to measurements (D) Prediction of events
ampling errors
(©) Lovel of significance 48. Which of the following is least
(D) Standard deviation important for any aé:tlon r?ic,earch ?
. . . (A) Quantitative data collection
42.  Multiple correlation studies (B) Qualitative content analysis
(A) Comparison of beta weights (C) Triangulation
and regression coefficients. D) Refl gulati
(B) Use of many independent (D) Reflection
variables. 49. In a study on children’s’ social
(C) Comparison of R and beta behaviour, what type of reliability
D) [vgcsaéghts(;f many  dependent would be considered important ?
X (A) Equivalent forms
variables. (B) Inter-rater
43. Identify the dependent variable in (C) Internal consistency
the following hypothesis : “Boys (D) Stability
1 - llables sl th
oo g e SyTables Slower Tl 50. Which of the following is indicative
(A) Speed of learning of the weakest correlation between
(B) Meanings of syllables two variables ?
(C) Gender A) -0.92 (B) 0.15
(D) Syllables (©) 040 (D) -0.10
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38.

39.

40.

41.

42,

43.

fSharcress o dy™ H Hdfya Wifecd &

3YeIcATRT ol T SR & 2

(A) WS Wiecd H oezET H
AT <hEAT |

(B) Teqa & SATYheT ohl T LT |

(C) Wl foemi der fshatshemal @l

Ygd AT |
(D) I gHRad o= f& sremad

TTUTTcHSh & AT URATTCA |

fohg TehR ! YT Sl Tel Y Tl B9

T qRETighd T ST & 2

(A)  forva-arg e

(B) e Srear

(C) TITFTCHS el

(D)  qaTHE S

Fefatad 5 9 9 J@ Iaie-AaT

1 A foreieen & 2

(A) THfvad =1 1 o1y SR ST
TR |

(B) Ff¥ad I aem T9M am=R |

(C) FAfead S aeT ST =R |

(D) Ff¥ad ¥ &1 & q= qqH
TR |

AT fe ffated 5 9 fraen T g ?
(A) T e

(B) =S e

(C) Hehdl TR

(D) T foaeH

TR HeHey FHEGEd H 9 fohEe
I HATE ?

A)  SITHR T 3TEA{d Ot i

EB)) Wﬂﬂﬁﬂﬁﬂﬁ o
(C) TR qar R & qer

(D) 3Tk 3T TR T SYATT
FAfAfaa URehedT § SEd =R o
TEa1HU :

! e i 9 WEd € 1

(A) et id

(B) 37&TI & 1A

(C) fom-9g

(D) 3R

44.

45.

46.

47.

48.

49.

50.

F-37ama § & 1 § & .7 e & 2
(A) THE % T TR0

(B) Ffe-mmm

(C) T o UROT

(D) OIS AT

= 5 9 {5 oot § wede |Jime
HEGee OISR ST FRINT TE &R 2

(A) FTHHTES TAT AT

(B) ShHTCHS TUT ATHHTh

(C) 3Tt a1 SR

(D) SHHTCH AT AT

= o 9 9 91 MYdT G99 G2 /1
Tae?

(A) T

(B) TECIRA g

(C) e Aot

(D) o

=1 8 9 %= a1 aete ot g 3=
T Y o1 ST Tl € 7

(A) HIH @S

(B) Ty i @i

(C) =R o1 Fon

(D) =TS i Aiosait

= § @ 30 W haers srduE |
T FH HEwo1 § ?

(A) URETTHE 2T T

(B) TUTCHS fore-ar, fergetsoT

(C) Fryem

(D) W@

Tt % ATHITSTR 2R % SRl st o
1 5 | i 9 favaH e Fewegut € ?
(A) IHIT AT

(B) 3iR-You faR®

(C) 3fiaRe gamia

(D) fema

T 8 9 %4 &1 g = A 999 FHER
TEHeY T § ?

(A) -092 (B) 0.15

(©) 040 (D) -0.10
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